
Lecture 16

Last time : A-
• (E) = K[xp Ip c- ICH] /~ ,

AKLE ) gen . by {xo / REICH} .

Minkowski weights of dim .
K
,
denoted A C- MWKCE ).

E#① Mwo (E) = I and Mwn (E) = K ( latter only needs I complete)
→ fundamental class AE = [Xz]

② ±¥ É
Prep One has an isomorphism to : MWK (E)→ Hom(AKCXE)

,
2)

A l→ ( Xo↳ AG))
Rey Above holds for -2 simplicial, not necessarily complete or smth (with suitable defn for MW) .

Prot The cap produce AK(E) ✗ Mwa (E)→ Mwa-1<1-2)

(5
,
A) it> 5nA :( It> HEA) (3.xe) )

given an isomorphism 8-2:AKE)→MWN-1<52) by es te es n Az .

fxz : A
" (XE)→K coincides with 8-zi.AM/-z)-sMWo(E)=L .

es l→ es n Az

For YCTN a very affine subvariety , and I its closure in XE.TT
,

what is [I] = zqn Az c- MW• (E) ? See [Maclagan- Stiermtels] for reference .

Detn Let f. = [ Case c- EGG? - - -HE] . Define temp : R
"
→ IR by

✗Efczn

temp = min { ✗ • x I ✗ c-A} , and Vtropttnp) = {WER" / min . in f achieved at least}
twice at w

a.
" Kinks" of the Ph fat trop(f)

For ICE [XF
,
. . -

,
xn±]
,
define Vtrop (I) = A Vtropterop)

FEI
If YC@*)

"

given by the ideal I, write trop CY) := Vtroptt) .

Im trop (Y) is a weighted balanced polyhedral cplx (say with Griibner fan str) .

(pure of dim = dim Y
,
if Y irred

. ) ↳ i.e. any tan stir on trophy)
makes it into a MW.



E→ E- g¥÷ . Betty/erase. has extremal rays Ll , 7 , I
, -,
\

.

26/7<2

axtbytcmminlxiy.co/?L,axy+by+cxmmin(xty,y,x)-s-fL v

Exer_ For DEA' (Xz) b.p.f. and are -26h- 1) , let RJ be the face of Borrego. to 0.
Then

,
Dn Az = Very,(%) : oh # (PENN ) - I

Rem_ In fact, Dktkz : I 1-7 K- dim'd lattice v01. of RF .

↳ K ! Euclidean v01
.

k=n-1 case : I v01(F) ÑF = 0 .

F- facets

Th_m[Tender][Katz] If I contains a refinement of trop (Y) as a subfan
,
then

trop (Y) = [I] as elts in MW. (E) .

If I' E E
,

then trophy = [5×-21]=-15*[7×-2] = [E-iY→] .

Y={x+y=o} C P P C P
'
← Bla :* ,] P2 from ✗ I ¥

*trop (Y)=/ .

[Y "] = [H]
,
but [FBI] =/ a.* [1-1]

.

Red Ring of conditions : RW)") := him A•(✗E) = ring of Mws (tropical cycles) in IZMIR⇒

Lee L C- ICE represent a loopless matroid M .

Have What ✗An → A. (✗An) A-
•

(WL)
11 11

I[XFI#FEE flat]I[xsl#E]_ →= ,

xs↳ { Is
S flat

o else

Xs , - - - Ksm
,
n [WL] = {

1 it 51 , - - ; Sry chain of flats of M .

49-514 - - - 9- SMEE
0 else

⇐ tropes __ Am +

In.IR?::?:n...ns?F!!!putting weight 1 for cones in the Bergman fan Em

Exec For arbitrary (not necessarily realizable) loop less matroid M
,

Am as above is a MW on Ian.


